1 L O L L B 40T T T T T T T T T T T T T T 10 T T T L B
LS inaue T TR s [ i i
NNy AT g i ] 7

oL A ppp An a0 L 350 ]
OO, (SRRSO r 1 1
3 R, . [ ] 8 N
Q008 o] 3.0 B |
o © [ ]
= o] [ ] ]
E S ] ]
~ S : 7] [ ] l 6 3
= oo 200 B ]
> Do r ] |
10 oA [ ] J
] 1.5 ]
oA [ 1 4 i
151 o] [ 1 |
C ] 1.0 1 7
0| I P R R S PR RS A 0. Ll e ] 2L L P B
00 02 04 06 08 1.0 0.5 1.0 1.5 2.0 25 3.0 5 10 15 20 25
phase ¢y H-K V—K
15.0[C " " " " 3
145/ —]
= s
LT 0] —]
o — .
° e T T R I LR -
13'5; ,,,,,,,, A A A S
130 ‘ . . . =
40[C " " " " ;.
E = .
£ 9 —
= — .
> C
3 o
o C
° C
0 20—
2 C
o — —
—40C . . . . 7
1.0 " " " " 3
o C 3
2 08— —]
[ .
S = 3
c 06— —
o C 3
= C 3
04— -
[0 — —
] C 3
5 02— 4
o — —
0.0 . . . . - 3
o 100 200 300 400
time [yr]
— T T T T T T T T 13 T T T T T
9,0: 1 3x10 F 1 i
r 7 ® @ 1 F 4
-85 8 oo o0l1.47 [ b £ :
E . e : PSP (T 1 Ten 5000 K
g [ L,oo. oo . 1 . F B
€ -s0F oot ; 4 B E E \g L 5.85 Lo
£ [ : B : B £ ]
I o s ! ] N 1 Mass 2.00 Mg
b . : ] %107 E
L L g0 Pm , ] 5 1 _
b i L | 19(c-0) 520
g ' . ]
r - ! 1 F i C/0 1.55
-7.0 . . \ . . . . . ok . LA
—75T T T T T T T T T 7 oE AU 6 km/S
¥ 5§ o ‘ 1 b P
LA | j— fl 2.0
-ror o ol : ER
= I e a : ] 2 class pp
o r ! ‘o ! ! ] >
E -65[ IR . 1B
[ i 7 o
= b oo ‘ 1 2
[ : 1 ° 1 i
—6.0F po 1 %8 1 1 8 1 No wind
[ o . 1S 4
[ w e ‘ ] ]
r § . 1 ] E )
-5.5 . L L . : . . . = Period 390. d = 1.068 yr
4 R ; ] 10F 7 Radius  318. R
E b %0 g3 1 r 1 logg -0.26
b Lo 1 . osfF s 4 My, 1.458
[ . . ] o [ P ]
-3 . B e [ ]
I o T 1 Posf E ‘
2 E 5 B B 5 r 1 Colour mean / min / max / ra
— [ ' ] Kl F g B-V) 2.10 1.98 2.29 0.31
> [ 0 ] g 041 7 V—1) 2.35 1.95 2.78 0.83
-2 LI A 2 F 4 V—K 534 460 6.03 1.43
E ey q 8 0ok 7 J—H 0.96 0.86 1.02 0.16
r ot e 1 L 1 =Ky 1.44 127 155 0.28
[ " ] [ ] H-K) 0.48 0.41 0.55 0.14

-1 . g | . 1 0.0 T T T |
428 430 470 473 430 440 450 460 470

time [yr] time [yr]

000

5.83

2.00

3.20

5

nge



60
-
<40
£
=
EY
S
o
£ 20
»
O
o
0
-20
-5
En
€
O
S~
S
EY
T -10
g
L3
o
o
K]
—15
3.0
2.5

2.0

condensation degree
»

0.5

0.0

5000

4000

3000

Toes [K]

2000

1000

Note: Time increases downwards.
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Scales OK for last curve (bottom black)
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